

Quote To:

Fullerton Public Library Reginald Myers 353 W Commonwealth Ave Fullerton CA 92832

rmyers@edtechnologyfunds.com

NetXperts Inc. 1777 Botelho Drive Suite 102 Walnut Creek, CA 94596 925-806-0800 Tel 925-806-0899 Fax

## Ship To:

Fullerton Public Library Reginald Myers 353 W Commonwealth Ave Fullerton CA 92832

rmyers@edtechnologyfunds.com

## QUOTE

Quote # NETQ19584-04
Date 03/30/22
Sales Rep. ngretowski

Qty	Part Number	Description Fullerton Public Library - Erate 2022-2023 RFP Location: Hunt Branch	Unit Price	Ext. Price
		Network Equipment / Meraki		
4	MX95-HW	Meraki MX95 Router/Security Appliance	\$2,777.00	\$11,108.00
2	LIC-MX95-SEC-3Y	Meraki MX95 Advanced Security License and Support, 3YR	\$5,188.10	\$10,376.20
1	MX250-HW	Meraki MX250 Router/Security	\$6,168.33	\$6,168.33
1	LIC-MX250-SEC-3YR	Appliance Meraki MX250 Advanced Security	\$10,376.19	\$10,376.19
40	MR46-HW	License and Support, 3YR Meraki MR46 Wi-Fi 6 Indoor AP	\$886.75	\$35,470.00
6	MR76-HW	Meraki MR76 Wi-Fi 6 Outdoor AP	\$978.48	\$5,870.88
12	MA-ANT-20	Meraki Dual-band Omni Antennas	\$110.63	\$1,327.56
46	LIC-ENT-3YR	Meraki MR Enterprise License, 3YR	\$166.54	\$7,660.84
6	MS355-48X-HW	Meraki MS355-L3 Stck Cld-Mngd 48GE, 16xmG UPOE Switch	\$10,460.32	\$62,761.92
6	LIC-MS355-48X-3YR	Meraki MS355-48X Enterprise License and Support, 3 Year SubTotal	\$1,118.58	\$6,711.48
				\$157,831.40
		Fiber Patch Cords		
2	UPDLC-S02	Fiber Optic Patch Cord, Singlemode OS2 LC to LC, 2 M SubTotal	\$19.81	\$39.62
				\$39.62

Qty	Part Number	Description	Unit Price	Ext. Price
		CAT6 Cabling Materials		
25	10136226	Category 6 Min - LANmark 6, CMP	\$275.00	\$6,875.00
140	61110-RL6	Category 6, eXtreme Jack	\$7.14	\$999.60
6	49255-H24	24-Port QuickPort Flat Panel Empty,	\$36.16	\$216.96
40	6D460-03L	1RU (rear cable mgmt bar included) Category 6, 3' Patch Cord (component rated) - 26 AWG, 100W POE	\$3.30	\$132,00
6	491RU-HFR	1U Plastic Single Sided Horizontal Cable Manager with Finger Duct	\$41.43	\$248.58
40	42080-2WS	2-port Faceplate with ID window	\$1.71	\$68.40
300	CAT32HP4Z34	2-inch J Hook with Caddy Clips	\$2.08	\$624.00
4	165BK4A	Vinyl Plastic Tape, Black, 3/4 in. x 36 ft	\$1.16	\$4.64
1	43115-75	75FTX1/2IN POLYWRAP	\$50.82	\$50.82
20	1011-00-WH	Right-Angle Wi-Fi Access Point Wall Mount / White	\$83.80	\$1,676.00
1	Scissor Lift	Scissor Lift	\$1,500.00	\$1,500.00
1	Misc	Miscellaneous items requried to	\$1,000.00	\$1,000.00
		complete installation SubTotal		\$13,396.00
2	15252-703	Networking Racks  Adjustable Rail QuadraRack; 84" (2100 mm) 45U H x 23.62" (600 mm) W x 35.43" (800 mm) D; 35.43 to 41.33" (900 to 1050 mm) to 41.33" (1050 mm) Rail Depth; Threaded	\$1,015.55	\$2,031.10
2	15285-702	Equipment Mounting Holes; Black Adjustable Rail QuadraRack/ServerRack Equipment Support Rail; 35.43"D (900 mm); Black	\$107.72	\$215.44
2	15275-701	Adjustable Rail QuadraRack/ServerRack Top-Mount Cable Waterfall Tray; 6"W (152 mm) x 5.2"D (132 mm); Black	\$137.14	\$274.28
2	40604-003	Rack and Frame Installation Kit	\$11.45	\$22.90
2	11911-712	CABLE RUN KIT 12IN BLK	\$128.93	\$257.86
4	10642-001	CABLE RACK END CAPS PAIR	\$8.42	\$33.68
1	14305-700	RADIUS DROP STRINGER LG BK	\$39.05	\$39.05
3	11746-712	BRACKET FORM TRI 12IN BLK	\$46.96	\$140.88
2	10822-712	RUNWAY 90 DEGREE 12IN BLK	\$137.81	\$275.62
3	10595-712	RCK MOUNTING PLT 9-12 BLK	\$37.85	\$113.55
2	14304-712	12 INCH RADIUS DROP	\$35.43	\$70.86
4	11302-701	JUNCTION SPLICE 1 1/2 STG	\$11,22	\$44.88
1	Misc	Miscellaneous items requried to complete installation	\$500.00	\$500.00

Page 2

Qty	Part Number	Description SubTotal	Unit Price	Ext. Price \$4,020.10				
Uninterruptible Power Supplies								
2	SMART1500RM2UN	SmartPro 120V 1.5kVA 1.35kW Line-Interactive Sine Wave UPS, 2U Rack/Tower, WEBCARDLX Network	\$1,033.76	\$2,067.52				
2	4POSTRAILKITWM	Interface, LCD, USB, 8 Outlets 4-Post 1U Universal Adjustable Rack-Mount Shelf Kit for Wall-Mount Racks	\$52.42	\$104.84				
		SubTotal		\$2,172.36				
		Professional Services						
1	NPS	Installation and configuration/setup for Meraki Router/Security Appliance	\$3,000.00	\$3,000.00				
1	NPS	Installation and configuration/setup for Meraki MS350 Switches	\$2,400.00	\$2,400.00				
1	NPS	Installation and configuration/setup for Meraki Wireless AP's	\$2,700.00	\$2,700.00				
1	NPS	Guest WiFi and Heat Map Validation	\$1,200.00	\$1,200.00				
1	NPS	Installation and setup of Uninterruptible Power Supplies (UPS)	\$749.47	\$749.47				
1	NPS	"Netxperts Pro Techs to install (2) new 4 post racks in the MDF and install new equipment into new network racks. Also Demo existing cabling and adding (140) new CAT6 cabling throughout the Hunt Library along with (2) new patch fiber cabling. (Includes testing and certification) (Does not include asbestos abatement or containment, does not include boring through walls or EMT/Conduit or wiremold pathways)"	\$29,229.43	\$29,229.43				
1	NPS	Project Management to be the main point of contact and to oversee the installation process, documentation, and other customer needs. SubTotal	\$3,000.00	\$3,000.00 \$42,278.90				
		Contingency Fee						
1	CONTINGENCY FEE 20%	20% Contingency Fee	\$30,000.00	\$30,000.00				
Signati	s Sudith B. Boot	R Date 4/1/2022	SubTotal Sales Tax Shipping	\$249,738.38 \$10,837.19 \$0.00				
Please	indicate acceptance of terms by	Date T 2022 signing above.	val	\$260,575.57				
				Page 3				

Terms & Conditions of this Proposal: All orders will be placed upon receipt of signed purchase order or a signed contract between NetXperts, Inc. and customer. Such purchase order or contract will be subject to any governing law. All hardware is warranted per manufacturer's published warranty only, unless an NetXperts Service Contract has been purchased. This order may be subject to: sales tax, VAT, duty and freight charges even if not noted on this quote. Terms for Hardware, Software are Net 30. FOB Origin; Title passes at origin, and buyer has total responsibility over the goods while in shipment. NetXperts Inc. - Confidential and Proprietary